ANAAY2ZH ABC KAI XYZ 2TO EXCEL ME
[MAPAAEIFMA YTIOAOTIZMOY

MNa Tnv avdAuon Tng¢ TOIKIANIOG Twv ayabwyv, XPenolYoTTolouvTal
«TTPOOTITIKES» TTEAQTWYV, TTPOUNBEUTWY, OPEINeTWV HEBoDOI ABC kail XYZ
(omavia).

Baolopyévn avdAuon ABC - eival n mepipnun apxn Pareto, n otroia
onAwvel 611 10 20% Twv TTpooTTadeiwv divel To 80% Tou aTTOTEAEOUATOG.
MeTaoxnNUATIOPEVOGS KAl AETTTOPEPNAG, AQUTOG O VOUOG £XEI EQAPUOOTEI OTNV
QVATITUEN TWV PEBOOWYV TTOU OUCNTACALE.

ANAAYZH ABC 2TO EXCEL

H uéBodoc ABC odg emTpETTEl VA TAEIVOUNOETE MIa AioTA TIMWYV O€ TPEIG
OMADEG, O OTTOIEG £XOUV DIAPOPETIKO AVTIKTUTTO OTO TEAIKO ATTOTEAECUA.

o ETTIONUAVETE TO PE TO MEYOAUTEPO "B&POC" OTO OUVOAIKS
QATTOTEAEC Q.

o avOAUOUV TIC OPAdEC BETEWY avTi yIa JIa EKTEVA AioTa.

e VIO VO EPYOOTEITE OE €vav OAYyOpIBUO HE TIC BECEIC HIOG
ouddag.

O1 €évvoieg otov KaTtdAoyo WETG Tnv e@apuoyr TG peBOGdou ABC
XwpicovTtal o€ TPEIG OUADEG:

1. A - 70 TTI0 ONUAVTIKO yia TO oUVOAO TwV (20% divel To 80%
TWV ATTOTEAEOUATWV).

2. B — pyéon onuacia (30% - 15%).

3. C - 10 ANiyoTepo onuavTiké (50% - 5%).
AUTEG oI TINEG Dev gival UTTOXPEWTIKEG. O1 pEBodoI TTPoodlopICHOU TwV
opiwv Twv ouddwv ABC Ba diapépouv oTnv avaAuon d1a@OpwV OEIKTWV.

AN\G av eVvTOTTIOTOUV ONUOVTIKEG OTTOKAIOEIG, agiCel va OKEQPTEITE, TI
OupuBaivel.

MpoUTroBéoeig yia Tn Xprion NG avaiuong ABC:

e TO QVTIKEIMEVO TTOU avaAuovTtal  €Xouv  aplBunTIKO
XOPOKTNPIOTIKO.

e 0 KaTdAoyog TNG avAAuongG OTToTEAEITAI ATTO OMOIOYEVEIG
BéoeIg (BeV PTTOPEITE VA CUYKPIVETE TTAUVTAPIO POUXWV Kal



AOUTTTAPEG, ETTEION QUTA TA TTPOIOVTA KATAAAMPBAvovTal TOOO
OIOQOPETIKA UPN TIHWV).

EMAEXONKAV PE TN MPEYIOTN QVTIKEIMEVIKA €vvola (yia va
KATATAEOUV TIG ETTIAOYEG OTA Pnviaia €00da TTI0 CwWoTd aTTd
0, TI OTIG NUEPNOIES EICTTPALEIG).

lNa opIoPEVEG TINEG, MWTTOPEITE va XPNOIMOTTOINCETE T PeBodoAoyia
avaiuong ABC:

TO EUTTOPIKO QACHA TWV TTPOIOVTWY (avadAuon oTo KEPDOG) -

TNV  TeAaTelaky  Paon  (avdAuon oTov  OYKO  TWV
TTapayyeAIWY) -

TN BAon TTpounBeuTwWV (avAAUCH OTIC OTTOOTOAEG) -
TOUG OQEIAETEG (aVAAUOVTOG TO OUVOAO TOU XPEOUG).

H pébodog katdragng eival TToAU atrAr]. AAAG 0 XEIPIOPOG PEYAAWY OYKWV
0edopEVWV  XWpPIC €1dIka  TTpoypduuata  givar  TTpoBAnuartikog. O
ETTECEPYAOTAC O€ Hopn TTivaka Excel atrAoTrolei onuavTikad Tnv avaAuon

ABC.

To yevik6é ouoTnua:

1.

MpoodiopioTe ye oKOTTO TNV avdAuon. lNMpoodiopioTe TO
QVTIKEINEVO (TO OTTOIO avaAUEl) Kal TV TTAPAPETPO (O€ TToId
apxn Oa TagivounOei avd oudadeEG).

2. Kavre TIC TTapapéTpoug Tagivounong o€ gbivouoa oelpd.

3. ZuvoyioTe oe apIBunTIKG dedopéva (TTapAueTpol - £€00da,

TT000 XPEOUG, OYKOC TTAPAYYEANIWV K.ATT.).

Bpeite TNV avaloyia KGBE TTApAPETPOU OTO GUVOAO.

5. YtroAoyioTte 1O PEPiIBIO TOU ABPOICTIKOU OUVOAOU Yyia KABE

TIUA AioTaG.

Bpeite Tnv TRl otn Aiota, oTnv otroia To MEPIdIO TOU
OwpPEUTIKOU ouvoAou TTANcIGlel 10 80%. Autd cival 1O
KATWTEPO OPIo TG OpAdag A. H Kopu®n - ival n TTpwTn OTN
AioTa.

Bpeite Tnv Tyl otn Aiota, otnv otroia 1o MEPIdIO TOU
OWPEUTIKOU ouvoAou KovTd oTo 95% (+ 15%). AuTo €ival 1o
KATWTEPO Oplo TNG ouddag B.

8. MNa 10 C - 6Aa TTapaKATW.

YT1roAoyioTe TOV apIOuo Twv TINWV YIa KABE KaTnyopia Kal Tov
OUVOAIKO apiBuo Béocewy oTn AioTa.



10. Bpeite Ta pepidia kKABe kaTtnyopiag ouvoAIKa.

ABC-ANAAYZH THZ EMIMNOPIKHZ TKAMAZ ATAGQN 2TO
EXCEL

Algpop@wvoupe oTov TTivaKa HEAETNG ME 2 OTAAEG Kal 15 oeIpég.
Eiocdyoupe 1o ovouata Twv UG OpOUG ayaBwv Kal TIG NUEPOMPNVIES
TTwANoONG yia 1o £€10¢ (OTN VOMIOUOTIKA agia). Eival atrapaitnto va
TaglvounBei To €UPOC TOU €I00ONUATOC (TTOIO TTPOIOVTA  TTAPEXOUV
TTEPICOOTEPQ KEPDN).

A E
1 | Products Income
2 |productl 20
3 product2 25
4 |product3 43
5 productd 16
& |products 32
7 |productd 60
g |product? 78
9 |products8 234
10 |product9 154
11 |product10 76
12 |productll 50
13 |producti2 320
14 |productl3 120
15 |productld 10
16 |productls 400

1. TaglivounoTe TIC NUEPOMNVIES OTOV TTivaka. EKKpiveTe o€ OAO
TO €UPOG (EKTOG ATTO TNV KOPUYI) Kal TTATAOTE « Tagivounon»
oTnv KapTéAa «Aedouévar. 210 TTApABupo dlaAdyou TTou
EXEl avoigel, 01O «Tagivounon katd» eMAELTE «EI0OdNua».
2tn oTAAn «[llapayyeAdioa» - «ATTO TO HEYOAUTEPO OTO
MIKPOTEPOY.

21|
"'Q.L Add Level }( Delete Level EE Copy Level | Options... v My data has headers
Column | Sort On | Crder |
Sort by | Income jJ I‘-Ialues j ILargest to Smallest | j
Products
Income




2. NpooBéoTe TOV TTivaka OTnV TEAIKA ypauun. Mpémmer va
Bpoupe TO OUVOAIKG dBpoicpa Twv TIHWV OTN OTAAN
«El060npa». MetaBeite oto keAi B17 kal 1TatioTe TO
ouvOuaoNO TTANRKTPpwY TTPpdoBacng ALT + «=» yia ypriyopn
TTPOoBacn o€ AsIToupyieg Pe TTANPEIS TTapapéTpous: = SUM
(B2: B16).

14 |productl 20
15 |product4 16
16 |productld 10
17 |Total: 1678 <-- =SUM(B2:B16)

3. MNa ToV uTtoAoyioud TnG avaAloyiag KABe oToIXEiou OTO
OUVOAIKO TT000. AnuioupynoTte tnv Tpitn OTAAN «Koivi
XPAoN» Kal opioTe yia Ta KEAIQ OE€ POP@N TTOCOOTOU.
Eicaydyete TOov TUTTO OTO TIPWTO KeAi: =B2/$B$17 (o
OUVOETHOC TTPOC TO "dBpoIoua” TTOU TTPETTEI VO KAVOUE OTO
atmmoAuTo). "TeviwoTe" oTO TeEAeuTaio KeAi TNG OTAANG.
EmmrAéov, kdAvie TO «[1oCOOTO» TWV KENWV HOPON
CTRL+SHIFT+5.

F v X K | =B7/3BS17
A B C D E
1 | Products Income  Share
2 productls 400 24%
3 |productl2 320 19%
4 productd 234 14%
5 | product 154 9%
& pruductlB_ 120 7%
7 |producta1| 50|=87/5851]
3 |product? 78 5%
9 |productl0 76 5%
10 |products 60 4%
11 |product3 43 3%
12 |product5 32 2%
13 |product2 25 1%
14 |productl 20 1%
15 |product4 16 1%
16 prnductm_ 10, 1%
17 Total: | 1678]

4. YTtrohoyioTe To pepPidio ava dedouleupévn Baon. NMpooBEoTe
OTOV TTiVOKQ TNV 4N OTAAN «2ZUCOWPEUPEVO PEPIBIOR. [Na TNV
TTPpWTN B€0n, Ba cival ion Ye TO HENOVWPEVO PEPIdIO. Ta TO
OKOTTO auTo, To KeAi D2 giodyel: =C2. INa 1n deuTtepn BEon -



gival TO JEPOVWHEVO HEPIDIO + PEPIDIO TNG DEDOUAEUPEVNG
Baong yia Tnv TTponyouuevn Béon. Eicaydyete oto d€UTEPO
KENi Tov TUTTO: =C3+D2. "TeviwoTe" péXpl 10 TEAOG TNG
otNANG. lNa 11g TeAeuTaieg B€oeig Trpétrel va gival 100%.

Je

D

=C15+D14

Accumulated share

24% <-- =C2
A3% <-- =C3+D2
57%

66%

73%

79%

83%

B88%

91%

94%

96%

97%

98%

=C15+D14

IF - P v
A E C

1 | Products Income  Share
2 |productls 400 24%
3 |productl2 320 19%
4 |products 234 14%
5 productd 154 9%
& |productl3 120 7%
7 |productll 50 5%
2 |product? 78 5%
9 |productl0 76 5%
10 |producte 60 4%
11 |product3 43 3%
12 |products 32 2%
13 product2 25 1%
14 |productl 20, 1%
15 |product4 15|_ 1%
16 |productld 10 1%
17 [Total: 1678

100%

5. AvdBeon amd Tig Béoeig o€ pia 3 TNV GAAN opdda. AiyoTtepo
atré 10 80% - avAkel oTnv opdda A. Aiyotepo atrd 10 95% -
avhkel oTnv opada B. ANa — oTnv opdda S.

Accumulated share
24%
43%
57%
66%
73%
79%
83%
88%
91%
9454
96%
97%
93%
99%

100%

|A

|B



6. Na va giote Avetol OTN XPrNON TwV OTTOTEAECUATWY TNG
avaAuong, TOTTOBETAOTE PTTPOOTA aTTO KABE OTOIXEiO T
avTioToIXa ypAuuaTa.

A E C D E
1 | Products Income Share Accum.share Group
2 |productl5 400 24% 29% A
3 |productl2 320 19% 43% A
4 |product8 234 14% 57% A
5 |product9 154 9% 6% A
& |productl3 120 7% 73% A
7 |productll 50 5% 79% A
3 | product? 78 5% 83% B
9 productl0 76 5% B8% B
10 |product6 60 4% 91% B
11 |product3 43 3% 94% B
12 |product5 32 2% 96% C
13 |product2 25 1% 97% C
14 |productl 20 1% 98% C
15 |productd 16 1% 99% C
16 |productl4 10 1% 100% C
17 |Total: 1678

‘ETol  éxoupe oOAokAnpwoel Tnv  avadAluon ABC  xpnOINOTTOIWVTOG
eykataoTaoelg Excel. O1 TrTepaITépw EVEPYEIEG TOU XPROTN — €ival N Xprnon
TWV NUEPOMUNVIWYV EUPNUATWY OTNV TTPAEN.

ANAAYZH XYZ: TO TIAPAAEITMA YTIOAOIZMOY 2TO
EXCEL

Autn n néBOdOG xpnoiuoTroleiTal cuyxva ekTOG atro Tnv avaAuon ABC. O
ouvduaopévog Opog ABC-XYZ-avdAuon PBpioketal akOpn Kol 0Tn

BiBAIoypagia.

To akpwvuupio XYZ kpuPetal oto €mimTedo  TTPOPRAEWINOTNTAGC TNG
TTPORBAEWIUOTNTAG TOU QVTIKEIMEVOU TTOU avaAueTal. Autdg o OeikTng
YiveTal yia va JeTpnOcei ue To ouvTeEAEOTR dIAKUPAVONG TTOU XOPOKTNPEICEl
TO METPO TWV NUEPOPNVIWY OKEDAONG YUPW OTTO TN MEON TIKA.

O ouvteAeo TG dIAKUPAVONG - €ival Eva OXETIKO PMETPO, TO OTTOIO OEV EXEI
atmd TIGC OUYKEKPIMEVEG MovAdeg METpnong. H Tdon, n €moxikoTnTa
QUEAVOUV  ONUOVTIKA TNV  TTPOPRAEWINOTNTA  TWV  EMTOKIWV. Qg
QATTOTEAEOUA, JEIWVETAI N TTPORBAEWINOTATA TOU ETTITOKIOU. AUTO TO GQAAUQ
MTTOpPEl va agopd AavBaouéveg atmo@doelg. Auto cival €va TEPAOTIO
MEIOVEKTNPA TNG HEBOBouU XYZ. Eival rap '6Aa auTd...



Ymdpxouv mOava avTikeipeva avaiuong: Oykog TTWAACEwyv, aplOudg
TTpouNOeuTWyY, €000 K.ATT. Mo ocuyxvd auth) n uEBODOC XpPNOIYOTTOIEITAl
yia TOV TTP00dIoPIoHS TWV ayaBwyV yia Ta oTroia UTTdpxEl N éviovn CATNON.

AAyO6p1Bpog avaAuong XYZ:

1. O uttoAoyioudg Tou €TTITTEOOU TOU CUVTEAEOTH dlaKUPAvVONG
NG {ATNoNg yia K&Be kartnyopia TPoidviwyv. O avaAuThg
EKTIMG TNV TTOOOCTIAIO ATTOKAION TOU OYKOU TTWANCEWYV TOU
MEoou Opou.

2. Tagivounon ocipdg TIPOIOVIWY  yid
dlokupavong.

TOV  OUVTEAEOTN

3. Tagivounon 6éong oTIg TpeIG ouddes - X, Y i Z.

Ta kpITApIa TAgIvOuNoNng Kal Ta XapakTNPIOTIKA TwV OPAdWV:

1. «X» -0 - 10% (o0 cuvTteAeoTn ¢ dlakUpavong) - ayabd Pe Tnv
IoXuUpPOTEPN CATNON.
2. «Y»-10-25% - ayaBda pe aotabeig TTwANOCEIG.

3. «Z» - 25% - ayabd 1Tou £xouv Tuxaia ¢ATNOoN.

2uvBEaTe Tov TTivaka ekTTaideuong yia avdAuon XYZ.

1. YtoAoyioTe TOV ouvTeAeoTH dlakUuavong yia KAabe opdada
euTTOpEUPATWY. O TUTTOC UTTOAOYIONOU PETARANTOTNTAG TOU

oykou TwAnoswv: =STDEVP(B8:H8)/AVERAGE(B8:H8).

: X« f< | =STDEVP(B3:HZ)/AVERAGE(BS:Hg)
A B C ] E F G H I

1 Sales coefficient
2 | Products | January | February| March April May June July variation

3 |productl 70 65 80 68 75 76 73 7%
4 | product2 20 42 36 37 28 40 18 28%
5 product3 34 17 26 25 30 18 23 23%
& | productd 18 27 20 10 15 7 21 37%
7 |products a3 38 37 78 56 40 Lk 28%
8 |products 25 19 20 7 30 21 28| =STDEVP(BH
9 |product? 19 24 27 32 12 10 10 43%
10 \productd 60 37 il 68 71 69 77 9%
11 |productd 32 30 15 27 32 18 10 35%
12 \product10 22 28 18 19 22 25 21 14%




2. Tagivounon evvolwy - opioTe Ta TTPOIOVTA TNG ONAdAC «X»,
«Y» ] «Z». XpNOILJOTTOIOUME TNV EVOWHATWHPEVN OuvAPTNON
«IF»: =IF(13<=10%,"X",IF(13<=25%,"Y","Z"))

IF v X W foo || =IF(17<=10%,"X", IF(17<=25%,"Y","Z"])

A B C D E F G H I J
1 Sales coefficient

- . Group

2 | Products | January | February| March April May June July variation
3 productl 70 65 80 68 75 76 73 7% X
4 |product2 20 42 36 37 28 A0 18 28%| Z
5 product3 34 17 26 25 30 18 23 23%| ¥
& |productd 18 27 20 10 15 7 21 7% Z
7 |products 43 38 37 78 56 A0 43 28%|=IF{17<
& |product6 25 19 20 7 30 21 28 33%| Z
9 |product? 19 24 27 32 12 10 10 43%| Z
10 | product8 60 57 66 68 71 69 77 9% X
11 | products 32 30 15 27 32 18 10 35%| Z
12 | productl0 22 28 18 19 22 25 21 14%| ¥

21NV oudda «X» uTTédpxouV TTPOIGVTA TTOU £€XOUV TNV TTIo 0TaBEPNA {ATNON.
O péoog Pnviaiog OYKOG TTWAACEWV ATTOPPITITETAI JOVO KaTd 7% (TO
Tpoiév 1) kal 9% (10 TTpoidv 8). Edv €xeTe Ta ATTOBEUOTA QUTWY TWV
QVTIKEINEVWY OTO a1TOBeua, n eTaipgia Ba TTPETTEI va BAAEI TA TTPOIOVTA
OoTOV TTAYKO.

Ta ammoBéuara ayabwv atrd TNV oudda «Z» Ptropouv va peiwbouv. 'H
OKOMO Kal TTNYQIVETE O€ QUTA TO OVOUATA O€ Wi TTPOTTapayyeAia.



ABC AND XYZ ANALYSIS IN EXCEL WITH
EXAMPLE OF CALCULATION

For the analysis of the assortment of goods, «prospects» of clients,
suppliers, debtors are used methods ABC and XYZ (rarely).

Based ABC-analysis — is the famous Pareto principle, which states that
20% of efforts give 80% of the result. Transformed and detailed, this law
has been applied in the development of we discussed methods.

ABC-ANALYSIS IN EXCEL

ABC method allows you to sort a list of values in three groups, which have
different impact on the result.

« highlight the with the greatest "weight" in the total result;
« analyze the groups of positions instead of an extensive list;
« to work on one algorithm with the positions of one group.

The meanings in the list after the application of the method ABC are
divided into three groups:

1. A —the most important for the total of (20% gives 80% of the
results).

2. B —average in importance (30% - 15%).
3. C - the least important (50% - 5%).

These values are not mandatory. Methods of determining the boundaries
of the ABC-groups will differ in the analysis of various indicators. But if
significant deviations are detected, you worth to think, what's wrong.

Conditions for the using of ABC-analysis:

« the analyzed objects have numerical characteristic;

« the list of the analysis consists of homogeneous positions
(you can not comparable washing machines and light bulbs,
because these goods are occupied so different price
ranges);



were selected the maximum objective meaning (to rank the
options on the monthly revenue more correct than on the
daily receipts).

For some values, you can use the ABC analysis methodology:

the commercial range of goods (analyzing to profit);
the client base (analyzing to the volume of orders);
the supplier base (analyzing to the shipments);

the debtors (analyzing to the sum of indebtedness).

The ranking method is very simple. But to handle of large volumes of data
without special programs is problematic. The tabular processor Excel
greatly simplifies to the ABC-analysis.

The general scheme:

1.

Identify to the purpose of analysis. Determine the object
(which analyze) and parameter (on what principle will be
sorted by groups).

2. Make the sorting parameters in descending order.

3. Summarize to numeric data (parameters - revenue, the

amount of debt, the volume of orders, etc.).

Find the proportion of each parameter in the total.

5. Calculate to the share of cumulative total for the each list

value.

Find the value in the list, in which the share of cumulative
total is approaching to 80%. This is the lower limit of the
group A. The top — is the first in the list.

Find the value in the list, in which the share of cumulative
total close to 95% (+ 15%). This is the lower limit of the group
B.

8. For C - everything below.

10.

Calculate the number of values for each category and the
total number of positions in the list.

Find the shares of each categories in total.

ABC-ANALYSIS OF COMMERCIAL RANGE OF GOODS IN

EXCEL



We form to the study table with 2 columns and 15 rows. We insert the
names of the conditional goods and sales dates for the year (in the
monetary value). It is necessary to rank the range of the income (which
products provide more profit).

Products
productl
product2
product3
productd
products
producta
product?
products
productd
product10
productll

3 |productl2

productl3
productld
productls

1.

B
Income
20
25
43
16
32
60
78
234
154
70
50
320
120
10
400

Sort the dates in the table. Excrete to the entire range
(except the top) and press «Sort» on the «Data» tab. In the
dialog box has been opened, in the «Sort by» select
«Income". In the column «Order» - «Largest to Smallest».

+i"~|- Add Level )( Delete Level EE Copy Level | DOptions... v My data has headers
Column I Sort On I Crder I

Products

Income [

Add in the table to the final line. We need to find the total
sum of the values in the column «Income». Go to cell B17
and press the hotkey combination ALT + «=» for quick
access to functions with filled parameters: =SUM(B2:B16).

14 |productl 20
15 |productd 16
16 |productl4 10

17 |Total: 1678 <-- =SUM(B2:B16)

sort by (| income v! I‘-.-falues vI ILargesttn Smallest vI



3. To calculate the proportion of each element in the total
amount. Create the third column «Share» and appoint for
the cells to percentage format. Enter the formula in the first
cell: =B2/$B$17 (the link to the "sum" we must do to the
absolute). "Stretch" to the last cell of column. In addition,
make «Percent» of cells format CTRL+SHIFT+5.

F - x v K =B7/5B517
A B C D E
1 | Products Income  Share
2 productls 400 24%
3 |productl2 320 19%
4 |product8 234 14%
5 |product9 154 9%
& pruductlB_ 120 7%
7 |producta1| 90|=87/$8$1]
8 |product? 78 5%
9 |productl0 76 5%
10 |products 60 4%
11 |product3 43 3%
12 |product5 32 2%
13 |product2 25 1%
14 |productl 20 1%
15 |productd 16 1%
16 pruductl-*-l_ 10, 1%
17 Total: | 1678

4. Calculate the share by accrual basis. Add in the table the 4-
th column «Accumulated share». For the first position, it will
be equal to the individual share. For this purpose, the cell
D2 enter: =C2. For the second position — is the individual
share + share of accrual basis for the previous position.
Enter in the second cell the formula: =C3+D2. "Stretch" until
the end of the column. For the last positions it must be
100%.



IF - X A =C15+014

A E C D E F
1 | Products Income  Share Accumulated share
2 |productls 400 24% 24% <-- =C2
3 |productl2 320 19% 43% <-- =C3+D2
4 |product8 234 14% 57%
5 productd 154 9% 66%
& |productl3 120 % 73%
7 |productll 90 5% 79%
& |product? 78 5% 83%
9 |productl0 76 5% 88%
10 |productt 60 4% 91%
11 product3 43 3% 94%
12 |products 32 2% 96%
13 product2 25 1%_ 9?%_
14 |productl 20 1% 98%
15 | product4 15|_ 1%|=C15+D14
16 |productl4 10 1% 100%
17 |Total: 1678

5. Assign by the positions to one or another group. Less than
80% - is in the group A. Less than 95% - is in the group B.
Other ones — in the group S.

Accumulated share
24%

43%
57% A
o6%
73%
79%
83%
88%
91%
94% |
96%
97%
98% |

99%
100%

6. To be comfortable to use the results of the analysis, affix in
front of each item to corresponding letters.



A E C D E

1 | Products Income Share Accum.share Group
2 |productls 400 24% 24% A
3 |productl2 320 19% 43% A
4 |product8 234 14% 57% A
5 | product9 154 9% B6% A
6 |productl3 120 7% 73% A
7 |productll 90 5% 79% A
& product? 78 5% 83% B
9 | productl0 76 5% 88% B
10 |productt 60 4% 91% B
11 |product3 43 3% 94% B
12 products 32 2% 96% C
13 |product2 25 1% 97% C
14 |productl 20 1% 98% C
15 |productd 16 1% 99% C
16 |productld 10 1% 100% C
17 |Total: 1678

So we has been finished the ABC-analysis using Excel facilities. The
further actions of the user — is the using of the findings dates in practice.

XYZ-ANALYSIS: THE EXAMPLE OF CALCULATION IN
EXCEL

This method is often used in addition to the ABC analysis. The combined
term ABC-XYZ-analysis is even found in the literature.

The acronym XYZ hides to the level of predictability of the predictability
of the object being analyzed. This index is made to measure by the
coefficient of variation that characterizes the measure of the scatter dates
around the average value.

The coefficient of variation — is a relative measure, which does not have
of the specific units of measurement. It's suffice informative. As a result
is reduced the rate predictability. This error may involve to wrong
decisions. This is a huge minus of XYZ-method. It's nevertheless...

There are possible objects for analysis: volume of sales, number of
suppliers, revenue, etc. More often this method is used for determining
the goods for which there is the strong demand.

XYZ-analysis algorithm:



. The calculation of the level of the coefficient of variation of

demand for each product category. The analyst estimates

the percentage deviation of the sales volume of the mean.

Sort product range for the coefficient of variation.

3. Position classification in the three groups - X, Y or Z.

The criteria for the classification and characteristic of the groups:

1.

2. «Y»-10 - 25% - goods with volatile sales.

«X» - 0 - 10% (the coefficient of variation) - goods with the

strongest demand.

3. «Z» - 25% - goods having random demand.

Compose the training table for XYZ-analysis.

1.

Calculate the coefficient of variation for each commodity
group. The variability calculation formula of sales volume:
=STDEVP(B8:H8)/AVERAGE(B8:H8).

- X « f | =STDEVP(B3:HZ)/AVERAGE(BS3:H3)
A B C D E F G H I

1 Sales coefficient
2 | Products | January | February| March April May June July variation

3 |productl 70 65 80 68 75 76 73 7%
4 |product2 20 42 36 37 28 40 18 28%
5 |product3 34 17 26 25 30 13 23 23%
& |productd 18 27 20 10 15 7 21 37%
7 |products 43 38 a7 78 56 40 43 28%
8 |producte 23 19 20 7 30 21 28|=STDEVP(BH
9 |product? 19 24 27 32 12 10 10 43%
10 productd 60 37 66 68 71 69 77 9%
11 productd 32 30 15 27 32 13 10 35%
12 \productl0 22 28 18 15 22 25 21 14%

Classify meanings - define to the products in the group «X»,
the built-in  function
=IF(13<=10%,"X",IF(13<=25%,"Y","Z"))

«Y» or

«Z».

We use

«IF»;



F - b v & =IF(17<=10%,"X",IF(17<=25%,"Y","Z" )

A B C D E F G H I J
1 Sales coefficient
. . Group
2 | Products | January | February| March April May June July variation
3 productl 70 65 80 68 75 76 73 TH| X
4 |product2 20 42 36 37 28 40 18 28%| Z
5 |product3 34 17 26 25 30 18 23 23%| ¥
& |productd 18 27 20 10 13 7 21 37%| Z
7 |products 43 33 37 78 56 40 43 28%|1=IF(17<
& |productd 23 19 20 7 30 21 28 33%| Z
9 |product? 19 24 27 32 12 10 10 43%| Z
10 | product8 60 37 66 68 71 69 77 9% X
11 product9 32 30 15 27 32 18 10 35%| Z
12 productl0 22 28 18 19 22 25 21 14%| ¥

In the group «X» are got products that have the most stable demand. The
average monthly sales volume rejects by only 7% (the product 1) and 9%
(the product 8). If you have the stocks of these items in the stock, the
company should put the products on the counter.

Stocks of goods from the group «Z» can be reduced. Or even go to these
names on a pre order.



